1. The following set of data represents the heights, in inches, of the 20

students in Mrs. Bevan's socic(JI studies class: I /
63, 56, 67, 59, 70, 69, 62, 74, 66, 72, 87, 60, 70, 66, 67, 58, le, 49,83, 67

Complete the frequency table below.

Heights of Students
Interval Tally Frequency
55-59 [ 5
60 — 64 AR o
L5-¢67 [ L <
70 - 727 [T 45

On the grid below, draw and label a frequency histogram for these data.
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4. The data below represents the high temperatures recorded during 2
weeks in February. Construct a Box plot using this data.
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What is the interquartile range (IQR) of the data set? /4&

SY~ (e = [ F
5. The students were surveyed about the number of siblings they have. The
dot plot is used to display the information obtained. What is the mean

number of siblings that the students hove@wow your work.
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2. John randomly asks customers at two different restaurants how long they
waited for a table before they were seated. The double box plot shows
the results. Complete the table below to compare their centers and
variations. Write an inference you can draw about the two populations.

Average Wait Times (min)
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3. Compare box and whisker plots A and B to answer each question. Show
your work for the interquartile range and the range.
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a) Which data set has a greater interquartile range ¢ [%5
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b) Which data set has a smaller range? Zé



